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2| BB KiE.EFX| 5 ha 0 ha[K#E.5*x[ 8 ha 0 hal|BBE
3 Eﬁ% . A2k 565, kRt 7 ha 1.2 ha @ oesm anen 7 ha 1.2 ha Eﬂ%
4 Eﬁ% KER. RS ET. SR 10 ha 2.3  ha [rmemsemeanes 10 ha 23 ha Eﬂ%
5| 2RE [E———— 11 ha| 14 ha|ee=wman=| 12 ha| 1.4 ha %%
6| e KiE.EFX| 5 ha 0 ha[K#E.5*¥[ 8 ha 0 ha ?ﬂ%
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14 in:.\% K78, RSP ST 9 ha 0 ha [ s s 9 ha 0 ha Eﬂ%
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26| RE meer.asgE| 23 ha| 3.8 ha [#Rerassm| 24 ha| 3.8 ha |[EEE
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32 Eﬂ% & Ot (L4 8 ha 7.7 ha |rorszmeses 9 ha 77 ha |ZEE
33 Eﬂ% Z DR (E<B ) - ha 0 ha |[zotutemEsm -  ha 0 hal |22
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